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1* Ê¶>�= e>»NJi×= 

 Ëh²f�= ´¿F¶=

ÍÈe>RJ¶= µÇ¿F¶= Írr^J�= µÇ¿F¶= 

Í²�nº ÍÉF¿Q? ÍÉºÇ³U 

1* �� ÇE?�{Ç¶=  
2* Ëe>¯£¶= Ëe>RJ¶= 

1*Ê¾=aÇj¶= Ê¢=eh¶=  
2* Í[[[É»¿J¶=Æ e>[[[]a×= 

ÍÉ¢>»JQ×= 

3* Í[[[[É»¿J¶= ­f[[[[rº 

Í²�nº 

1*>É¯Èfª? lÇ·FÉE  
2*Êj¾f«¶= Ê¾=aÇj¶=  
3*Ê¾=aÇj¶= ËaÇ£j¶=  
4 *ÊºØiÝ= ¸rÉª 
5*Ê¾=aÇj¶= ÊºØiÝ=  
6*ÊºØiÝ= Àº>vJ¶=  
7*Ê¾=aÇj¶= Í²�¶=  
8*±fn�= ±egÙ= ¸É¿¶=  
9*L=ea>r¶= ÍÉ»¿I  

10*Ê¾=aÇj¶= Ê·ÂÙ=  
11*¶=  Ê¾Æ>£J¶= ÍÉ»¿J 
12*Ð=fVr¶=Æ ¸U>j¶=  
13*ÍÉ¾=ÇÉ�= ÌÆfN¶=  
14*�{Ç¶= ¹>»£¶=  
15*ÊºØiÝ= ¹>»n¶=  
16*Ëe>RJ¶= ¥e=h�=  
17*½Øj¶=  
18* Ê¾=aÇj¶= Ëfr�= 

19*½Ç{f�=  
20*Á=aÇj¶=Æ L=e>ºÝ=  
21 *�·É¿¶= ´¿E Í¢Ç»� 
22* bVJ�= ¹>�= 
 

1*ËeÇ«ÈA  
2*{Ç¶= Á>ºea ½? � 

ÍÉºÇ³U 


